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Unit 6: Evolution

Name: Period:

6.3 MECHANISMS OF EVOLUTION REVIEW

For the diagrams below, identify what type of mechanism is being illustrated and describe how it works as a mechanism
of evolution.

\

1. The original population started \ (2 Two male Sage Grouse fight in front of females: \

in the north and migrated

southward.
2. The population split to
the east and west of the
(g Central Valley. Then two

populations began to
evolve independently.

3. Evolution of eastern
population.

4. Evolution of E \

western population.

-

5. The east and west lations came back
together in Southern California, but could no
longer interbreed (or produced infertile
hybrid offspring).
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Mutation creates
variation
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(Answer' the questions below.

AN,

(A standard population in equilibrium is shown on the right. Read each scenario
and draw a rough graph and label it with The Type of hatural selection that is
acting on the population to produce each graph.

The possible choices are the following: directional, stabilizing, or disruptive

In all examples below:

“A" symbolizes a particular dominant allele.

“a” symbolizes a particular recessive dllele in the same gene.

A is incompletely dominant over a. Aa individuals have an infermediate

phenotype.

# individuals

Aa aa

s A population of tree frogs have a

gene with two different dlleles that
affect how quickly their skin dries
out when they are out of the water
¥ One dllele (A) helps to prevent their
delicate skin from drying. AA
individudals are especially good at
surviving in dry environments. Inifially
in This population, There is no selection, as there is
plenty of water normally in the environment. One
year, a long drought hits the area and the area

# individuals

they live in becomes drier and drier. Show the AA Aa
selection that you predict would take place on the
frog population and explain your answer.

aa

(.
A population of cichlid (a
r'\ fish) have a gene with two
dlleles that affect body

>
size. AA individuals are
large, Aa individuals are
medium size, and aa individuals
@ are dwarf In a particular lake,
due to sudden competition with
other newly introduced fish species, tThe humber

of nesting areas is scarce. Two are available To
cichlids: rocks with large caverns and very small

# individuals

empty snail shells on a shell bed. Show the AA Aa
selection that you predict would take place on
the fish population and explain your answer.

aa

( A population of kangaroos

have a gene with Two adlleles
that affects birth weight. AA
individuals are much heavier
at birth. Aa individuals are
medium size at birth and aa
individuals are very small at birth. Large babies
sometimes during the birth process and very
small babies of'ten die from ilness. Show the
selection you predict is Taking place on this
population and explain your answer.

# individuals

AA Aa

.

aa

(C) Bethany Lau 2016



